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eg When two children are born, find the probability of getting the
children of the same gender.
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eg When three children are born, find the probability of getting
the children of the same gender.
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eg When three children are born, find the probability of having

exactly one boy. L
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eg When three children are born, find the probability of getting
at least one girl.
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eg 1010 U.S. adults were surveyed and 202 of them were smokers.
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eg When five children are born, find the probability of not getting
the children of the same gender.
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